Seat No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER — 4 (NEW) - EXAMINATION - Winter-2023

Subject Code: 4341901

Enrolment No.:

Subject Name: Estimating, Costing And Engineering Contracting

Time: 02:30 PM TO 05:00 PM

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.
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Define 1. Estimating 2. Costing 3. Engineering Contracting.

U] A UL, WAL R. 51231 3. W [ R31 sle2 1521,
Explain the importance of break-even point (BEP) in industry.

G| WS 8ol UlESe2 (BEP) of Hecd qH1dl.

A company’s fixed cost is X 80,0000. Selling price and variable cost per
product is ¥ 500 and X 300 respectively. Find out the profit and safety
margin when total production is 18000 units.

s SUefloll A0 W . 0,0000 B A UISSeell AUl (SHd 2. Yoo
o Ul WA . 300 B. AR 58 Gllest 1¢000 o2l E1U RUIR «i§l Wal
A Hd] atton D).

OR

The fixed cost of one production unit is X 1,75,000. Selling price of per
product is X 4. Material cost per product is X 1.25 Other variable
cost/product is X 1.50. Find out the break-even point graphically and
mathematically.

A5 Gallesl WsHell @R W 2. 1,9U000 B, d Uld UlSs2 . ¥ <l
AUl (34d Uldlell Ulssesy AUl 52 8. uld ulsse HRRud wrf
294 A W UG WA/ UISSe . 1Uo . dl ALsell wa ARl
d WS el Ulge2 201k,

List the types of forging and explain anyone.

S1(e52Le1L USIR) 2RLLd Al SISURL A5 UHd).

Explain the procedure of cost estimation in Gas-Cutting.

Ay 52T WA e loell ulsul qHedl.

Explain the straight line and sinking fund methods to find out depreciation.

SRR Lt HIefl 22 dleyet el (A5l §S il Tcdl Auosl.
OR

List the various types of forging losses and explain anyone.

[c(ay uslReil s1e5a1 dlflUefl UlE] odetic) e AN A W s Yu2d).

Explain the various pattern allowances.
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Explain the elements of costs for selling price.

vlsseefl AULQL (5Hd HIRetl Walell d2 sl yHomdl.
List the cost elements in gas cuttings and explain anyone.

AU 5[ U IRl Wedl g25lefl UIE] eetld], S1EURL s A1),
List the factors affecting in arc welding cost.

215 AE5M] W HAR 53di URW sl ALE] odetldl,

A square bar of 25 mm side is formed from a round bar of 25 mm diameter
and 500 mm length by forging. Find the length of this square rod by adding
only 5% scale loss.

51290 dS ¥S5 25 mm ¥l W 500 mm GWLSALOL NOLSIR
Al el 25 mm wll9gdlon] ARY U[OU) HetlddiHi #1d 8. §5d 5%

B, 1Y L] w1 ARY AU Lef] dodlLes Al
OR

Define the following terms associated with machine shop estimation.
1. Cutting speed 2. Feed 3. Depth of cut.
Heflet 20U UIA Asn1Ad Uela cdluylRld S0, 9. s[3a1 &ls 2. §ls 3.

S us 52
Explain the cost estimation of solar rooftop plant.

UER 152\ W (o201 | W) Bl M-,

Calculate the cost of cast iron pulley of 1250 cm? using the material cost =
% 12/kg, wages paid to the worker = % 60/day, density of cast iron pulley =
7.2 gm/cm?, overhead charges = 15 % of material cost, melting charges =
20 % of material cost, number of molds prepared = 20/day/molder.

4o A.H13 of 5¢ uAdd] As 5122 WIAstell Yelofl s122 1104 (A1)
uRel] Q1ld). H2RuUdsA] [5Hd = . 92/(5.21, HoR sl Heeld 18] /Adel = .
go/[edy, sl Wdelo]l doldl = 9.2 AH/AH wldds YISy =
H[2RUE (BHdell 2U%, HLESaL Uy = H2RUE (BHdell R0 %, Hlese{l
Aul = 20 Yldlest wld Hles .

Explain the cost elements involved in ice plants.

WLSY W Lol WAell el 5] M),

Explain the method for finding time for turning operation performed on
Lathe Machine.

A Heilel U ScUML widdl 2eilol ULt HIS HHY QNHdl Hieil

Ued, [ qHomndl.

Estimate the labor cost and material cost for making an open tank of size
50x50x50 cm by arc welding. (Welding is to be done on the inside only.)
1. Size of sheet =50 cm x 50 cm x 3 mm

2. Time for welding one meter = 12 minutes

3. Electrode usage = 0.5 m / m welding

4. Fatigue Allowance = 10%

5. Electrode wastage = 25 %

6. Cost of labour =% 15/m

7. Price of electrode =X 5/m
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Explain the power generation cost of diesel generator set.

Sld aetdeR A2 ol UldR ose19lel W (9] qudl.
Explain the procedure of estimation of labour cost in machine shop.

H2lst 2NUH| HogR) Wil vigloefl Ulsul Yuexdl.
Find the time for drilling based on the following information.
A 12 cm thick laminated plate made of 8 cm thick brass and 4 cm thick MS.
A 20-diameter hole is to be drilled in the plate.
1. Cutting speed for Brass = 40 m/min.
2. Cutting speed for mild steel = 30 m/min.
3. Drill feed for brass = 0.3 mm/revolution
4. Drill feed for mild steel = 0.25 mm/revolution

s 12 QUL wSI8] AtaAes We ¢ QUL SISl sl wa ¥ A4,
51eil WU A, Yool wadl 8. Weui 20 HHL dlal elds]
[Seilat s2dlls] 8. dl (SEToL Hleell MY o1 Aef] HLlsdlaA 24181R 2118,

2 Gl HIR 5(291 1S = yo {l./(M[12

R ULYES 2l Ul s(2a1 ]S = 30 Hl. /(a1

3. Wl HI (54 §1s = 0.3 {1l /1ei

¥ ULSES 2219 Y2 (54 §1S = 0.y vyl /21i
Briefly explain the e-tendering.

§-205(391 (dQl ¢sHi AHmdl.
List the various purpose of Budget.

wg2ell GRellefl ULEl wetldl,

A maximum demand of 80 MW is met by one thermal power plant. The
load factor of this plant is 40%. The operating cost of the plant is Rs.
1.94/kWh and capital cost Rs. 1800/kW. Estimate the per unit cost of power
produced by this plant taking interest and depreciation as 12% of the capital
cost

A s AHE UldR Wlse gl ¢o Ralldl2 ofl HedH (SHIsS Yl usiy 8. ul
Wle2ol GlS 3522 ¥o % 8. Wleaall UL WA . 1.¢¥/[5dld)e-
5615 8. 9o Wal SUAAUA 5[Ued sl2ell 12 % UHISL 48a L
Wiz g2l Gaulled UdRe] Uld Ylte W i), 3MUed Sle =
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Briefly explain about Security Bond.

15017121 6ilss (ARl 2 sHi uHondl.
Define contract and list the various types of contracts.
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An ice plant with ammonia as refrigerant is producing 150 kw refrigerating
effect. The evaporator theoretically rejects 900 kJ/kg energy. The
theoretical compressor input is 180 kJ/kg. Mechanical efficiency of the
plant is 80 %. Actual hit absorption in cold chamber is 70%. The plant is
running 24 hours. Power cost is 10/unit and labour cost are 1000/day.
Determine the cost of ice producing/kg if the overhead cost is X 3000/day.
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